
Ⱦɟɤɨɪ��%ODFN�2DN� 
Ʉɥɚɫɫ�ɂɡɧɨɫɨɫɬɨɣɤɨɫɬɢ��$&� 
Ʉɥɚɫɫ�ɂɫɩɨɥɶɡɨɜɚɧɢɹ�����-��� 
�ɀɢɥɨɣ�–�Ʉɨɦɦɟɪɱɟɫɤɢɣ� 

Ⱦɟɤɨɪ��ɑɟɪɟɲɧɹ�Ɍɪɺɯɩɨɥɨɫɧɵɣ 
Ʉɥɚɫɫ�ɂɡɧɨɫɨɫɬɨɣɤɨɫɬɢ��$&� 
Ʉɥɚɫɫ�ɂɫɩɨɥɶɡɨɜɚɧɢɹ�����-��� 
�ɀɢɥɨɣ�–�Ʉɨɦɦɟɪɱɟɫɤɢɣ� 

Ⱦɟɤɨɪ��0LON�Ⱦɜɭɯɩɨɥɨɫɧɵɣ 
Ʉɥɚɫɫ�ɂɡɧɨɫɨɫɬɨɣɤɨɫɬɢ��$&� 
Ʉɥɚɫɫ�ɂɫɩɨɥɶɡɨɜɚɧɢɹ�����-��� 
�ɀɢɥɨɣ�–�Ʉɨɦɦɟɪɱɟɫɤɢɣ� 

Ⱦɟɤɨɪ��Ⱦɭɛ 
Ʉɥɚɫɫ�ɂɡɧɨɫɨɫɬɨɣɤɨɫɬɢ��$&� 
Ʉɥɚɫɫ�ɂɫɩɨɥɶɡɨɜɚɧɢɹ�����-��� 
�ɀɢɥɨɣ�–�Ʉɨɦɦɟɪɱɟɫɤɢɣ� 

Ⱦɟɤɨɪ��Ɍɢɤ� 
Ʉɥɚɫɫ�ɂɡɧɨɫɨɫɬɨɣɤɨɫɬɢ��$&� 
Ʉɥɚɫɫ�ɂɫɩɨɥɶɡɨɜɚɧɢɹ�����-��� 
�ɀɢɥɨɣ�–�Ʉɨɦɦɟɪɱɟɫɤɢɣ� 

Ⱦɟɤɨɪ��%URZQ� 
Ʉɥɚɫɫ�ɂɡɧɨɫɨɫɬɨɣɤɨɫɬɢ��$&� 
Ʉɥɚɫɫ�ɂɫɩɨɥɶɡɨɜɚɧɢɹ�����-��� 
�ɀɢɥɨɣ�–�Ʉɨɦɦɟɪɱɟɫɤɢɣ� 

Ⱦɟɤɨɪ��&LSULD� 
Ʉɥɚɫɫ�ɂɡɧɨɫɨɫɬɨɣɤɨɫɬɢ��$&� 
Ʉɥɚɫɫ�ɂɫɩɨɥɶɡɨɜɚɧɢɹ�����-��� 
�ɀɢɥɨɣ�–�Ʉɨɦɦɟɪɱɟɫɤɢɣ� 

Ⱦɟɤɨɪ��2OG�*UH\� 
Ʉɥɚɫɫ�ɂɡɧɨɫɨɫɬɨɣɤɨɫɬɢ��$&� 
Ʉɥɚɫɫ�ɂɫɩɨɥɶɡɨɜɚɧɢɹ�����-��� 
�ɀɢɥɨɣ�–�Ʉɨɦɦɟɪɱɟɫɤɢɣ� 

Ⱦɟɤɨɪ��Ⱦɭɛ�Ɍɪɺɯɩɨɥɨɫɧɵɣ 
Ʉɥɚɫɫ�ɂɡɧɨɫɨɫɬɨɣɤɨɫɬɢ��$&� 
Ʉɥɚɫɫ�ɂɫɩɨɥɶɡɨɜɚɧɢɹ�����-��� 
�ɀɢɥɨɣ�–�Ʉɨɦɦɟɪɱɟɫɤɢɣ� 

Ⱦɟɤɨɪ��:KLWH�2DN� 
Ʉɥɚɫɫ�ɂɡɧɨɫɨɫɬɨɣɤɨɫɬɢ��$&� 
Ʉɥɚɫɫ�ɂɫɩɨɥɶɡɨɜɚɧɢɹ�����-��� 
�ɀɢɥɨɣ�–�Ʉɨɦɦɟɪɱɟɫɤɢɣ� 

Ʌɚɦɢɧɢɪɨɜɚɧɧɵɣ�ɩɨɥ�ɄɈɅɅȿɄɐɂə�9,&7<� 

ɈɋɇɈȼɇɕȿ�Ɍɂɉɕ 

ɂɆɉɈɊɌ�-�ɗɄɋɉɈɊɌ�ɉȺɊɄȿɌ�������
�����0$'(�,1�,7$/<� 

6WHPDX�6�U�O� 
Ɂɚɪɟɝɢɫɬɪɢɪɨɜɚɧɧɵɣ�ɨɮɢɫ�ɢ�ɜɵɫɬɚɜɨɱɧɵɣ�ɡɚɥ�9LD�3LHYH�/LJXUH�����������5RPH�,7$/<� 

ɋɤɥɚɞ�ɢ�ɜɵɫɬɚɜɨɱɧɵɣ�ɡɚɥ�9LD�5HIUDQFRUH�����������5RPH�,7$/<� 
Ɂɚɜɨɞ�ɩɨ�ɩɪɨɢɡɜɨɞɫɬɜɭ�9LD�0RUVDVFR�����������5RPH�,7$/< 

Ɍɟɥɟɮɨɧ��������������������–�Ɍɟɥɟɮɨɧ��������������������-�Ɏɚɤɫ��������������������-�LQIR#VWHPDXVUO�LW�-�ZZZ�VWHPDXVUO�LW�-�3�,��������������-�&�)������������� 


